North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

_	Department	Information	Nur	mber of S	tudents:		Response Key:
_		100 & 200 Level Courses ACCOUNTING		Scanned:	This Level Your Dept Your College	740	VG= Very Good(5) G= Good(4) IB=In Between(3) P= Poor(2) VP= Very Poor(1)

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
1. your satisfaction with the instruction in this course.		172 42.0	65 15.9	24 5.9	13 3.2	17 4.1	Level Department College University	3.916 3.965 4.118 4.140	1.003 0.968 0.902 0.922	393 720 2722 40612
2. the instructor as a teacher.	139 33.9	148 36.1	70 17.1	24 5.9	12 2.9	17 4.1	Level Department College University	4.170	1.026 0.975 0.911 0.927	393 721 2722 40591
3. the ability of the instructor to communicate effectively.	131 32.0	147 35.9	75 18.3	20 4.9	19 4.6	18 4.4	Level Department College University	3.895 3.982 4.098 4.145	1.076 1.007 0.958 0.962	392 720 2722 40567
4. the quality of this course.	99 24.1		73 17.8	19 4.6	8 2.0	17 4.1	Level Department College University	4.043	0.899 0.927 0.872 0.886	393 721 2724 40556
5. the fairness of procedures for grading this course.	146 35.6	159 38.8	57 13.9	22 5.4	8 2.0	18 4.4	Level Department College University	4.170	0.962 0.979 0.872 0.899	392 718 2716 40557
6. your understanding of the course content.	66 16.1	181 44.1	92 22.4	40 9.8	13 3.2	18 4.4	Level Department College University	3.630 3.728 3.997 4.058	0.988 0.919 0.838 0.865	392 718 2715 40559

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students: Level: 300 & 400 Level Courses

| VG= Very Good....(5) | G= Good....(4) | # Sheets Scanned: This Level ... 293 | IB=In Between....(3) | Your Dept ... 740 | P= Poor....(2) | Your College ... 2813 | VP= Very Poor....(1) Dept: ACCOUNTING

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
your satisfaction with the instruction in this course.	93 31.7	129 44.0	47 16.0	17 5.8	5 1.7	2 0.7	Level Department College University	3.990 3.965 4.118 4.140	0.934 0.968 0.902 0.922	291 720 2722 40612
2. the instructor as a teacher.	113 38.6	109 37.2	53 18.1	15 5.1	2	1	Level Department College University	4.082 4.037 4.170 4.214	0.912 0.975 0.911 0.927	292 721 2722 40591
3. the ability of the instructor to communicate effectively.	103 35.2	122 41.6	44 15.0	21 7.2	2	1	Level Department College University	4.038 3.982 4.098 4.145	0.924 1.007 0.958 0.962	292 720 2722 40567
4. the quality of this course.	90 30.7	124 42.3	56 19.1	14 4.8	8 2.7	1	Level Department College University	3.938 3.943 4.043 4.060	0.968 0.927 0.872 0.886	292 721 2724 40556
5. the fairness of procedures for grading this course.	91 31.1	118 40.3	52 17.7	23 7.8	6 2.0	3 1.0	Level Department College University	3.914 4.007 4.170 4.213	0.996 0.979 0.872 0.899	290 718 2716 40557
6. your understanding of the course content.	47 16.0	165 56.3	57 19.5	19 6.5	2	3 1.0	Level Department College University	3.997	0.806 0.919 0.838 0.865	290 718 2715 40559

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students:

Level: 600 & 700 Level Courses Dept: ACCOUNTING

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
your satisfaction with the instruction in this course.			4 10.8	1 2.7	0	1 2.7	Level Department College University	4.118	0.786 0.968 0.902 0.922	36 720 2722 40612
2. the instructor as a teacher.	22 59.5	11 29.7	2 5.4	1 2.7	0	1 2.7	Level Department College University	4.170	0.737 0.975 0.911 0.927	36 721 2722 40591
3. the ability of the instructor to communicate effectively.	19 51.4	16 43.2	0	1 2.7	0	1 2.7	Level Department College University	4.472 3.982 4.098 4.145	0.654 1.007 0.958 0.962	36 720 2722 40567
4. the quality of this course.	19 51.4	12 32.4	4	1 2.7	0	1 2.7	Level Department College University	4.043	0.798 0.927 0.872 0.886	30 72: 272: 4055:
5. the fairness of procedures for grading this course.	18 48.6	12 32.4	4	1 2.7	1 2.7	1 2.7	Level Department College University	4.170	0.967 0.979 0.872 0.899	36 718 2716 40557
6. your understanding of the course content.	12 32.4	18 48.6	5 13.5	0	1 2.7	1 2.7	Level Department College University	3.997	0.854 0.919 0.838 0.865	30 711 271 4055

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students: Response Key:

Level: 100 & 200 Level Courses

Dept: BUSINESS ADMIN

Sheets Scanned: This Level ... 185
Your Dept ... 1915
Your College .. 2813

VG= Very Good ... (5)
G= Good ... (4)
IB=In Between ... (3)
P= Poor ... (2)
Your College .. 2813

VP= Very Poor ... (1)

Please rate:	VG	G	IB	P	VP	TIMO	AREA	MEAN	S.D.	#R
your satisfaction with the instruction in this course.	65 35.1	78 42.2	17 9.2	7 3.8	2 1.1	16 8.6	Level Department College University	4.118	0.857 0.869 0.902 0.922	169 1850 2722 40612
2. the instructor as a teacher.	69 37.3	75 40.5	17 9.2	6 3.2	1 0.5	17 9.2	Level Department College University	4.170	0.815 0.882 0.911 0.927	168 1849 2722 40591
3. the ability of the instructor to communicate effectively.		67 36.2	19 10.3	2 1.1	1 0.5	15 8.1	Level Department College University	4.098	0.766 0.938 0.958 0.962	170 1851 2722 40567
4. the quality of this course.	55 29.7	82 44.3	22 11.9	7 3.8	4 2.2	15 8.1	Level Department College University	4.043	0.912 0.853 0.872 0.886	170 1851 2724 40556
5. the fairness of procedures for grading this course.	63 34.1	68 36.8	26 14.1	9 4.9	3 1.6	16 8.6	Level Department College University	4.170	0.949 0.825 0.872 0.899	169 1846 2716 4055
6. your understanding of the course content.	78 42.2	79 42.7	8	3 1.6	2	15 8.1	Level Department College University	3.997	0.755 0.784 0.838 0.865	170 1840 271 4055

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Number of Students:

Level: 300 & 400 Level Courses Dept: BUSINESS ADMIN

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
	675 41.3	660 40.3	188 11.5	57 3.5	17 1.0	39 2.4	Level Department College University	4.202 4.192 4.118	0.860 0.869 0.902 0.922	1597 1850 2722 40612
2. the instructor as a teacher.	752 46.0	582 35.6	179 10.9	69 4.2	15 0.9	39 2.4	Level Department College University	4.170	0.884 0.882 0.911 0.927	1597 1849 2722 40591
3. the ability of the instructor to communicate effectively.	683 41.7	589 36.0	217 13.3	82 5.0	26 1.6	39 2.4	Level Department College University	4.098	0.947 0.938 0.958 0.962	1597 1851 2722 40567
4. the quality of this course.	557 34.0	736 45.0	236 14.4	55 3.4	13 0.8	39 2.4	Level Department College University	4.108 4.095 4.043 4.060	0.835 0.853 0.872 0.886	1597 1851 2724 40556
5. the fairness of procedures for grading this course.	686 41.9	695 42.5	158 9.7	40 2.4	15 0.9	42 2.6	Level Department College University	4.253 4.238 4.170 4.213	0.807 0.825 0.872 0.899	1594 1846 2716 40557
6. your understanding of the course content.	474 29.0	837 51.2	220 13.4	53 3.2	8	44 2.7	Level Department College University	3.997	0.780 0.784 0.838 0.865	1592 1846 2715 40559

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students:

| VG= Very Good....(5) | G= Good....(4) | # Sheets Scanned: This Level ... 94 | IB=In Between...(3) | Your Dept ... 1915 | P= Poor...(2) | Your College ... 2813 | VP= Very Poor...(1) Level: 600 & 700 Level Courses Dept: BUSINESS ADMIN

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
your satisfaction with the instruction in this course.		34	7 7.4	6	3 3.2	10 10.6	Level Department College University	4.071 4.192 4.118	1.050 0.869 0.902 0.922	84 1850 2722 40612
2. the instructor as a teacher.	34 36.2	30 31.9	14 14.9	5 5.3	1 1.1	10 10.6	Level Department College University	4.170	0.960 0.882 0.911 0.927	84 1849 2722 40591
3. the ability of the instructor to communicate effectively.	33 35.1	34 36.2	8 8.5			10 10.6	Level Department College University	4.098	1.052 0.938 0.958 0.962	84 1851 2722 40567
4. the quality of this course.	29 30.9	34 36.2	15 16.0	1	5 5.3	10 10.6	Level Department College University	4.043	1.058 0.853 0.872 0.886	84 1851 2724 40556
5. the fairness of procedures for grading this course.	41 43.6	32 34.0	7 7.4	1	2 2.1	11 11.7	Level Department College University	4.170	0.869 0.825 0.872 0.899	83 1846 2716 40557
6. your understanding of the course content.	32 34.0	39 41.5	9	3	1	10 10.6	Level Department College University	3.997	0.848 0.784 0.838 0.865	84 1846 2715 40559

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students: Level: 100 & 200 Level Courses

Dept: MANAGEMENT INFORMATION SYSTEMS

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
	10	4	0.0	1	1 6.3	0.0	Level Department College University	4.313 3.919 4.118	1.195 0.866 0.902 0.922	16 149 2722 40612
2. the instructor as a teacher.	12 75.0	2 12.5	0.0	1 6.3	1 6.3	0.0	Level Department College University	4.170	1.209 0.866 0.911 0.927	16 149 2722 40591
3. the ability of the instructor to communicate effectively.	11 68.8	4 25.0	0.0	0.0	1 6.3	0	Level Department College University	4.500 3.959 4.098 4.145	1.033 0.903 0.958 0.962	16 148 2722 40567
4. the quality of this course.	10 62.5	3 18.8	2 12.5	0.0	1 6.3	0.0	Level Department College University	4.313 3.866 4.043 4.060	1.138 0.768 0.872 0.886	16 149 2724 40556
5. the fairness of procedures for grading this course.	10 62.5	3 18.8	1 6.3	2 12.5	0	0.0	Level Department College University	4.313 4.107 4.170 4.213	1.078 0.781 0.872 0.899	16 149 2716 40557
6. your understanding of the course content.	10 62.5	5 31.3	0.0	1 6.3	0.0	0.0	Level Department College University	3.997	0.816 0.783 0.838 0.865	16 148 2715 40559

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students: Response Key:

Tour College .. 2013 VI- Vely root....

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
1. your satisfaction with the instruction in this course.		53 47.3	28 25.0	4 3.6	1 0.9	2	Level Department College University	4.118	0.829 0.866 0.902 0.922	110 149 2722 40612
2. the instructor as a teacher.	27 24.1	59 52.7	20 17.9	3 2.7	1	2	Level Department College University	3.982 4.007 4.170 4.214	0.790 0.866 0.911 0.927	110 141 2722 40593
3. the ability of the instructor to communicate effectively.	28 25.0	52 46.4	21 18.8	8 7.1	0	3 2.7	Level Department College University	4.098	0.862 0.903 0.958 0.962	10 14 272 4056
4. the quality of this course.	16 14.3	57 50.9	34 30.4	3 2.7	0.0	2	Level Department College University	4.043	0.722 0.768 0.872 0.886	11 14 272 4055
5. the fairness of procedures for grading this course.	32 28.6	58 51.8	18 16.1	2	0.0	2	Level Department College University	4.170	0.724 0.781 0.872 0.899	11 14 271 4055
6. your understanding of the course content.	18 16.1	56 50.0	31 27.7	3 2.7	1	3 2.7	Level Department College University	3.997	0.779 0.783 0.838 0.865	10 14 271 4055

North Dakota State University Semester Report Information Student Rating of Instruction --- Course Level Summary Report Report Generated on 22JUN10 Using Data from Fall 2009

Department Information Number of Students: Response Key:

Please rate:	VG	G	IB	P	VP	OMIT	AREA	MEAN	S.D.	#R
1. your satisfaction with the instruction in this course.	4 17.4		4 17.4	1 4.3	0	0.0	Level Department College University	3.913 3.919 4.118 4.140	0.733 0.866 0.902 0.922	23 149 2722 40612
2. the instructor as a teacher.	5 21.7	11 47.8	5 21.7	2 8.7	0	0.0	Level Department College University	4.170	0.887 0.866 0.911 0.927	23 149 2722 40591
3. the ability of the instructor to communicate effectively.	5 21.7	10 43.5	6 26.1	2 8.7	0.0	0.0	Level Department College University	3.783 3.959 4.098 4.145	0.902 0.903 0.958 0.962	23 148 2722 40567
4. the quality of this course.	3 13.0		4 17.4	0	0	0.0	Level Department College University	3.957 3.866 4.043 4.060	0.562 0.768 0.872 0.886	23 149 2724 40556
5. the fairness of procedures for grading this course.	7 30.4		4 17.4	1 4.3	0	0.0	Level Department College University	4.043 4.107 4.170 4.213	0.825 0.781 0.872 0.899	23 149 2716 40557
6. your understanding of the course content.	5 21.7	16 69.6	2 8.7	0.0	0.0	0.0	Level Department College University	4.130 3.926 3.997 4.058	0.548 0.783 0.838 0.865	23 148 2715 40559